Chemistry 233 2/2/2015
Organic I Michael Shi

Quiz #1 Name__Answer _ Key

There is a total of 15 points for this quiz.

Answer all geestions in the space provided.

[1] Draw a Lewis structure for each of the following species. (1 point each)

a. COs~ b. HNO, c. N;
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(1] Draw a skeletal structure for each of the following compounds. (1 point each)
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b. 5-(1,2-dimethylpropyl)nonane

a. sec-butyl tert-butyl ether

¢. 2-methyi-N-propyl-1-propanamine

/vn\)\
[IiI] What is the hybridization of the atoms (other than hydrogen) in each of the following species?
{1 point each)

a. H30+ b. ‘CH3 C. BH3

3 2,
sp sp sp°
[IV] What is each compound's systematic name? (1 point each)
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